6000S (75u) NI /NSA—4

#HE FH B [mm] S BE[m/min] i W] FIARMHR | ARE [bar] | /ZJL[mm] FRRNIE [mm] LIk E BElmm] BiREIH | Ta—T %]
45-60 5 0 1
35-40 0 -1 05
oo 22-27 . 0 -15 0.
R 7 15290 6000 N2/Air 5 = o
9-12 0 -25 0.
8-10 . = 0.
3.6-4.2 400 0. 2E + 0.
4 32-34 400 0. 2E + 0.
3-32 000 0. 2E + 0.
2.7-29 000 0. 2E + 0.
22-24 4500 0. 2E +5 0.
0 2022 000 0. 2E +7 0.
2 0.9-1 400 0. 0D +4.5 0.
2 1.9-2.1 000 0. 2E +9 0.
4 0.8-0. 400 0. 5D +5 0.
4 1.4-1. 000 0. 4E + 0.
BRI 6 0.7-0. 400 02 0. 4.0D +5. 0.
6 1.2-1.4 000 0. 4E + 0.
8 0.55-0.65 400 0. 4.0D +55 0.
8 08 000 0. 4E +13 0.
0 0.5-0.6 400 0. 4.0D +5.5 0.
0 0.6-0.8 000 0.75 4E +135 0.
2 0.45-0.5 400 0.6 45D +55 0.
2 0.5-06 000 0.75 1.55 +135 0.
5 0.55 700 0.6 5.0D +55 0.
5 0.4-05 000 0.75 155 +14 0.
30 03 6000 1 55 +14 0.
45-60 0 5 0 0.
35-45 2 0 -1 0.
22-27 2 5 -15 0.
4 15-20 4 5 -2 05
9-12 4 0 -25 0.
811 0 -3 0.
ATFULR 35-45 6000 N2 0 -4 0.
0 2-25 5 358 -6 0.5
2 15-18 .58 -75 0.
4 1-1.5 4.0B -9 0.
6 0.5-0.6 4.0B —14 0.
18 0.3-05 20 5.0B -15 0.3 300 60
20 0.2-0.25 0 0B -16 03 300 60
1 45-60 2 58 0 1
2 35-40 2 .0S =1 0.5
3 22-27 4 255 -15 05
4 14-17 4 5 - 0.
9-11 4 0 - 0.
- 6 4-6 6 0 = 0.
TIR=H 8 25-3 £oo0 L2 6 308 —7 05
0 15-18 5B - 05
2 0.8-1 4.0B = 0.5
4 0.6-0.7 4.0B E 0.3
16 0.35-0.45 20 5.08 -12 0.3
20 02-0.3 0 0B -13 0.3
1 45-55 2 58 0 1
2 30-35 2 .0S =1 0.5
3 18-25 4 255 -2 05
4 12-15 4 0 - 0.
H& 4.5-6 6000 N2 4 0 -4 0.
6 35-4 6 0 E 0.
8 2-26 6 358 -6 0.5
10 1-1.3 6 358 -8 0.5
12 06-0.8 8 4.05 -8 0.3
1 25-30 5 2.0S -0.5 1
2 13-16 5 2.0S -1 0.5
8-10 5 0 - 0.
Ll 4 5-6 kol 02 6 0 = 0.
3-4 6 5 = 0.
6 15-25 8 255 -3 05




